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Understanding the Concepts and Skills

3.1 Explain in detail the purpose of a measure of center.
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3.7 Floor Space. The U.S. Department of Housing and Ur-
ban Development and the U.S. Census Bureau compile in-
formation on new, privately owned single-family houses.
According to the document Characteristics of New Housing,
in 2003 the mean floor space of such homes was 2330 sq ft
and the median was 2137 sq ft. Which measure of center do
you think is more appropr1ate7 Justify your answer.
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a. mean. b. median. c. mode(s).
For the mean and the medion, round each answer to one more
decimal place than that used for the observations.
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317 Medieval Cremation Burials. In the article “Mate-
tal Culture as Memory: Combs and Cremations in Early

Medieval Britain” (Early Medieval Europe, Vol. 12, Issue 2,
pp. 89-128), H. Williams discussed the frequency of cre-
mation burials found in 17 archaeological sites in eastern
England. Here are the data. '

AT

o bAS 46, 48 523 35, 347 265+ 2484

o
[* 5

a. Obt_:_:t'm the mean, median, and mode of these da_t;:
b. Which measure of center do you think works best here?
Explain your answer,”

3.20 Explain what each symbol represents.
a. x b. n c X

3.13 Billionaires’ Club. Bach year, Forbes magazine com-
piles a list of the 400 richest Americans. For 2005, the top
five on the list are as shown in the following table.
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3.21 For a particular population, is the population mean a
variable? What about a sample mean?
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3.23 Consider these sample data: x; = 12, 2, =8, x3=9

X3 =17.
a. Find n. b. Compute £x;. «. Determine ¥.
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a. Find n.

5. Compute LX;. ’ oo more
: Detefmine the sample mean. Round your answer to

ace than that used for the obseroations.

3.27 Hazardous Wastes. The Environmental Protection
Agency (EPA) collects information on generation, manage-
ment, and final disposal of hazardous wastes. In a study
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a. Determine the mode of the data. _
b. Decide whether it would be appropriate to use either the mean ) K we SES.
or the median as a measure of center. Explain your answer. \&) Mleoce. Vo<
3.28 Top Broadcast Shows. The networks for the top f)"--'t;l h/s “THhe & A
20 television shows, as determined by the Nielsen Ratings N e )
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